EXTERNAL WALL SLIDING KIT

7 RUNNERS AND FITTINGS ONLY

Eclisse supplies only the metal
components (track, runners, brackets,
door-stops, door-guide and rail
mounting brackets).

-5

} Components } Sectional view

® Aluminum running track 2000mm long 28+52

@ Nr. 4 medium nuts M5 znb

EXTERNAL WALL SLIDING KIT
}

(3 Nr. 4 washers M5 znb

(@) Nr 4 screws TPSEI M5 x 16 znb

@ Nr. 2 runners

(®) Nr.2 high nuts M8 znb

(@) Nr.2low nuts M8 znb

Nr. 2 washers M8 znb

@ Nr. 2 screws M8 x 45 znb
Nr. 8 screws M4,5 x 25 znb
@ Nr. 2 door panel brackets

@ Nr. 2 movable door stoppers

() Nr. 2 crinkle washers anti-slipping
Nr. 2 screws M6 x 30
@ Nr. 1 doorguide

Nr. 2 brackets for fixing track



